Vista da A

dint. 26

2 Vite
M8Bx50

2 Distanziali
p20—08,5x18

%
&

/

o)
&
A RIDUZIONE
r : A
< Dadi M8 710 \
Q

Brugola
MEx14

i /
\ / o5

220 Sy
Crower \/
06211
S
\ (1_(?»
3)
@22 /
~a_ TN
6/
A -5 Vite
25 T ] M8x25
13|
/ Vit
—— O 1re
3 Dadi M6 175 ——=I| ;5 wia® M8x35
3 Rondelle

S CGrower

Scala approxr. 7 : 5

Quote realtr in millimetr:

ART 4588 Silenziatore HAND MADE "ZX"  per PIACCIO
NEC=mc2 (fino al '97) — NREG=mcl (fino al '98) —

NRGC=mc2 ("00) Liguid cooled



